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Hegdal & fou arege/Instructions to the Candidates

. U R a9 3Nded A WA U AT HiA-osA 8T F YR WU @

udrem & fow smEtya e ¥ o v s e & 3ear anifeg degdan
Tl @Y & a3l egidar e Bl Snun |

You have been called for the writien test based on the online data furnished by you in the web application in

respect of your qualification. If you do not possess the required qualification as per our advertisement,

vour candidature will he rejected.

ug g AURd dgar & naR W T oder ar s & WY gEgeE w9 A
SO, ToTdd © ohael Ueh IAECIYT ®Y H Hal &|

The written test will be of objective type based on the gualification prescribed for the post with four answers

indicated, of which only one will be unambiguousiy correct.

usl & 3R 4 & AU HA INTAAR 3A-giEaa & s

4 separate OMR answer sheet with carbon coated copy will be provided for answering the Questions.
ST, FA-GIReddT & QU 0 3l & 3ER, dAreli/Brell T & dieuge 09 4
HTAAR ZeR-gReadT # Faila Aiad H1 3ifFa o 78 30 & =TI HE B

You have to seiect the right answer by marking the corresponding oval on the OMR answer sheet by

blue/black ball peint pen as per the instructions given in the answer sheet.

Ucdsdh U & IR 3P 8ld ol Tdd 30 & o U RUllcad 3id &I &l
Each question carries four marks. Wrong answer carries one negative mark.
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Th UH & [0 31 3o T HIAT ST
Multiple answers for a question will be regarded as wrong answer.

UH-UF 50 T8 UHT & gF UA-GiReasr & &7 #F

The Question paper is in the form of Question Booklet with 50 objective type questions.

UGN & ITUST ATH TUT FqehaAich Teh &7 I gor il

Enter your Name and Roll Number correctly in the question booklet,

TAT- e & T FUA B W AR HEWA TS IFNTAFR 3eR-gfEqar § Rr o
Tl g for@r S1ar 91w

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

HITHHR Fa-gieda # goft ufafdar e @l & ofa uEe 0T 9 & & o1
A |

Allentries in the OMR answer sheet should be with blue/black ball point pen only.

I yReT eler F folietes 1 sufeufa & & s efe-Ree W sraner e @ik

Yeu sheuid sign the hall ticket only in the presence of the Invigilator in the examination hall,

2. o qlien woare aid & 3y FTyel, Sregder, Aasd Bl gu7 3T sdaeis

ST, TS UETh. e Iy o Y ewiy ad & s

le.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes ete., will not

he allowed inside the written test hall.

 UET U7 B X, SNTANR 3eR-GfEdeT B S $ ded Ry & wE i # sivesn

sav-efte, e o |l qur gl ufd s aw @)

On completion of the test, tear the OMR answer sheet along the peiforation mark at the top and hand

over the original OMR answer sheet to the invigilator and retain ihe duplicate copy with you.

 UA-Yfedet 7T AU U T A@hd B

The question bocklet can be retained by the candidate.

Qe & yuH 62 & SR safdE @ oden o aied fr wEtY A ¥

Candidates are not permitted to leave the examination hall during the first hour of the examination.

Feafdal o HeteAR &g dgadEaidasT wa & v & g oden gors S
& 3R wETeER & Avued & WUN 9T & gaa R smoen)

The written test is conducted only to shortlist/screen-in the candidates for interview and selection will be

based on the performance at interview only.
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defars/seifey wasl (9g H. 1323)/Sci/Engr SC (Post No. 1323)

el 2y 7@ & WHRYT F9UAF T (127° C) 38%F arad f A e 50kJmol™ &
127°C U 39 ga % arue & JiaRE For Jmol™ )., |

Standard enthalpy of vapeurisation of a pure liquid at its Normal Boiling Point (127° C)
is 50kJmol™". The internal energy of vapourisation of the liquid at 127°C (in kJmol™) is

Ay 533 B) -53.3 C) -46.7 D) +46.7

e 7 s FEAT L B

The specific heat of water is

A) 4.187 J/gK B) 1 keal/g K

C) 80 J/mol K D)sudera @sfi/All the above
ag dF, Toras gegds gur Foi & @AT & IR A A6 &, 3/ FEd Bl
A system in which mass and energy are not allowed to cross the boundary is called
A) #ga @w/Closed system B) wwfess dF/Exclusive system

C) fagera da/Isolated system D) fa2w d3/Special system

AT 2 acHard ga-gd ISy UT TETeleT H TEAFAT Sl B oeveee, KGR

Degree of freedom for a 2 component liquid — liquid extraction operation

A) 1 B2

2 D) 3udwd & & wh #1 #gi/None of the above

9 0.5 M & & 25 ml &t 375 &7 [@EASHORAGT 767 & B oar § a9 f@aRg ag
Fr =TT Z°k] T 3STHAGIOT FEAT T AHAA HIAT

The amount of the heat released when 25 ml of 0.5 M alkali is mixed with stoichiometric
quantity of acid is ‘Z’kJ. Estimate heat of neutralisation

A) 100 Z By 125 2 C)y 0.2 D) 20Z
3T GOSN & FSATIAS ardeTe ATIHA His-A1 &
What is the thermodynamic temperature scale in the English system

A) #Ffeas AaswA/Kelvin scale B) W& AImA/Absolute scale
C) wR=erse AvsmA/Fahrenheit scale D) =%a AmaswA/Rankine scale

se 5 taaees 3Rt & 3 feor & gacg R & o \reg Fag e e

When the density of the reaction mixture is constant in a chemical reaction, the ratio of
the mean residence time to space time is

A) >1 B) <I e . D) 0



9.

10.

L1s

.................. W%Wﬁmﬁaﬁaﬁ%mx@wm%l
Conversion increases with increase in temperature in case ofa ____ reaction.

A) T@eRuT/autocatalytic

B) yﬂ@?ﬁm/irreversible

C) 3wrAYE seATeii/reversible endothermic
D) AT ssaddireversible exothermic

H%WWHWNQQFZNOQETTX,NE% o7 T & o RS e 8 &
meﬁﬁm ................... gt

If in the gaseous phase reaction, NoOg4 = 2NOa, x 18 the part of N,O,; which
dissociates, then the number of molecules at equilibrium will be.

A) (1+%) B) (1-%) €} (%) D) (1-x)

o SR d FfE N I A - B # TE DUEAIR A A F OFIRRT
0 1min & 3ifer 397 T 0.3 Wrr S §1 0.2 min” & IERET o1 ¥ TFA T ORI
WWW?WW%WWWW&WM%WWWW
feufaat & 81

For the liquid phase zero order irreversible reaction A — B, the conversion of A in a
CSTR is found to be 0.3 at a space velocity of 0.1min"". What will be the conversion for a

PFR with a space velocity of 0.2 min”'? Assume that all the other operating conditions are
the same for CSTR and PFR.

A) 0.15 B) 0.3 C)0.6 D) 0.9

Tl HRfEa A — B %ra,AmWw@ﬁwg?ﬁﬁm%mﬁﬁW
ﬂaCA“asamomﬁﬁ%,mCA,Awmﬁ,a‘rsﬁa@ﬁmﬁnarmmgﬁvm
The rate of the chemical reaction A — B doubles as the concentration of A doubled. If

rate of reaction is proportional to CA", where Cy is the concentration of A, then what is
the value of n for this reaction?

A) 0 B) 1 C) 0.5 D) 2

=

4,536m’m$zﬁﬁmmﬁ’mﬁ(mm) a?r,:—ﬁi’r%trﬁ’ﬁr?ﬁa@w,ai
anm}ﬁﬁwaﬁaﬁ%mm%laﬁgﬂWa{%Omﬁﬂ%ﬁmm@Tﬁw
W%Wamll%mﬂmﬁwa ....................... za/aeT g argvl

Three plug flow reactors (PFR's) of 4,5 & 6 m> volumes are arranged in two branches as

shown below in the figure. If the total feed rate is 300 tons/hr, then for the same
conversion in each branch, the feed rate through branch IT should be tons/hr.
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1.

Branch 1 s e
53 DER - 5
Total feed Fﬁl Ebdiind —>|4me

rate
S —
=300 tons/ l Product
hr. | (53 pE }_ —

Bra-ulwrch 2 Bl '
A) 100 B) 150 C) 200- D) 225
aifds eamerar &1 AT o, ¢l
The dimension of dynamic viscosity is _
A) MLT? B) L°T" C) LT? D) ML'T?

39 Aesd §&AT T
At high Reynolds number

A) Sscdig gl e tEd § AR @ o Ageaqul Ag
inertial forces control and viscous forces are unimportant
B) eure gl vHw B
viscous forces predominate

C) Sscdrr o Ageaqel 781 § 3R U ga a0 e §

inertial forces are unimportant and viscous forces control

D) gad# & uwsh 7 7éi/none of these

ST FATE ovvvnrrnenr & QT Sloll FHIFTOT HI WA LT AT ST HabelT|

Bernoulli’s equation cannot be applied when the flow is

A) wagst/turbulent B) guleieAs/rotational
C) xfFR/unsteady D) s9¥&a @sfi/All of the above

foher & AwoT oA & 3erar, el gerd &1 & oS A & 100 mm @ 50 mm dF Hafad
F & T 30fEa 3T Bl & 3R 39 uad &1 38 AT & 12 mm ¥ 6 mm 9% Hefad
i F v suféa Far B2 §, ar

According to Kick’s law of grinding, the energy required to crush a given quantity of

material from 100 mm to 50 mm size is E1 and energy required to crush the same
quantity of material from 12 mm to 6 mm size is E2, Then

A)El=E2 - B} EI-E2 C) EI<E2 D) z# & us o7 aigi/None of these

TTET TEIBTIT oivreiivniriinsrnens F1 aford affeaiaT g

Equation of continuity 1s a mathematical expression for

A) gegHT 38101 fFAgH/Law of conservation of mass

B) @aer wxetor faga/Law of conservation of momentum
C) w47 wegor f@A/Law of conservation of energy

D) za# & us #1 FE1/None of these
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20.

2k

fafrse smgast &) ... oo F w7 F uieenf®a fBFar smar g

Specific volume is defined as

A) IARd=/ATNST FEAT &THAT

Volume/ specific heat capacity

B) g /AT

Mass/Volume
C) IIa=/aeg#H e
Volume/Mass
D) sa# & tsw & =1gi/None of these

e wfaera & i &
Formula for calculation the percentage yield
A)(wm%mwgm%%ﬁtmﬁésmﬂxloo)/@@m%

TTHIU[H
Moles of main product equivalent to net disappearance of chief reactant x 100)
/(Moles of main product)

B) (&w 3cug & AANVE x 100)/(FTT 391G & AAIVE AET AHTHIHR & JAc o &

HHAEE)
(Moles of main product x 100)/Moles of main product equivalent to net
dlsappearance of chief reactant)

C) (FEy 3cure & A3 x 100)/(AET 3e9 & AHIH FEART AT aﬁiﬁ?a% &
'W&T)
(Moles of main product x 100)/(Moles of main product equivalent to chief reactant
charged)

D) (&0 3 & IANTE ARG geg dffras x 100 & wwean/(Fed 598 &
T
(Moles of main product equivalent to chief reactant charged x 100)/(Moles of main
product)

TS T ¥ gFd UefAfH A FIFIH F STT FEBE B i Fed B
Double sulphate of Aluminium or Chromium with monovalent metal is called as

A) zegf@arge/lluminite B) fSeadA/Gypsum
C) te#d/Alum D) toff#ar/Alumina

qUH ST N AGeH F IR, Fel THIeH T3S F A& HICH §7

As per US Bureau of Mines, major constituent in the black blasting powder
A) 3AfEEE Weare/Ammonium perchlorate

B) &wacl/TNT

C) yRETea/RDX

D) @ifzgs aste/aRuA agee/Nitrate of Sodium/ Potassium
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gefoad sresitaarss i RAvT R H, e F FYAIA & AT IyAET B Srar g

In the Titanium dioxide manufacturing process, chemical used for reducing

A) Ty eefagsa Tgeangs/Scrap Titanium tetrachloride
B} w9 &Er/Scrap iron

C) 9 Uaest/Scrap Anatase

D) 9 wersd/Scrap Rutile

TohT SEAHFHEs § ohd TE3FaEs & giaaral AT &l e & ®q H Tl
frar a1 weear &

Reaction from Suphur dioxide into Sulphur trioxide can be categorized as

A) Feamedr dicRAvI/Exothermic irreversible

B) ARl srecrAvig/Endothermic irreversible

C) A SehrAvia/Exothermic reversible

D) FwAmremdr 3chAvig/Endothermic reversible

Asfes Fa AT ufear #, Afts sEass @ asged sEHEEEs & &9 7 gRddd &g
wwd fEafy B ;

In the Nitric acid manufacturing process, process condition for Nitric oxide to Nitrogen
dioxide conversion

A) %1 areAT, 3T gre/Low temperature, high pressure
B) 3=a amu#Ae, A1 gre/High temperature, low pressure
C) 3=u quAN, 3@9 gre/High temperature, high pressure
D) w1 amaAe, @7 gre/Low temperature, low pressure

3IWFeT F AT Wor A P gaeEw uidar F CTeg-gur-any Bwa” i Fuiia
far ST &

In which design stage, “cost-and-profit potential” of an established chemical process is

determined?
A) wrafas 3iffsedar/Preliminary design

B) ga 3 3ifReeuar/Quick estimate design
C) ferg 3newes siffiseqar/Detailed estimate design
D) % whA HiFAseuw/Firm process design

..................... T 31fHFeTaT qu FEGA g Yads HdT HEeIE g

Pilot plant is necessary for the design and setting up of

A) &f3=/Mixers B) wshardl W/Cjﬁclone separator
C) 39eRgr 99/Centrifugal pump D) Rusey/Reactor

vF ao-Rfr gea fafdist & gewle g & aitwes &1 g il

Formula for calculating the bursting pressure of a thin-walled cylir der

A) Pb = 2STDm / I B) Pb = ZST'[m / Dm
Cy Py=28: (Ol L) D) P 2=28; (sl Da)’



28.  dvclemd @ fREeTar FHRIT &l
Design equation for the venturi meter
A) gr= CaSo V[(2gev(pi-p2)/ (1-(Se/S1))]
B) qr= Cq2S. V[(2gev(pi-p2) (1-(S/S1)%)]
C) = CaSe VI(v2&(pp- (1)) (Sp(1-(S¢/S1)"))]
D) qr= CaSe-1 VI(vp28(pp-(LW))/ (Sp(1-(Se/S1)))]
29. AT EBIET Y soenmssimin F w7 & gikenfa G arar 81
Murphree efficiency is defined as
A) TF RAT T GUFEOT IcTeel A o fad dquifowm Wil AT oHewr 3RO3E
JUFAIOT FT Sceel A g AT H HTGRIYF TR BT FEAT FHT IHeTTA
Ratio of no. of theoretical stages required to produce a given separation to the no. of
stages actually necessary to produce the same separation
B) fv v wie garr dwd o~y Fues # v v andfes aRads qur a9y Hued
I fpT v oREda @1 I, A 3W TAT F Breddld arsd 3 Wi H Sisare &d
& Wiy el A U
Ratio of actual change in the average vapour composition accomplished by a given
plate to the change in average vapour composition, if the vapours leaving the plate
were in equilibrium with the liquid leaving plate
C) v& foar T/ QUGRIOT 3ol FNGT ¢g anedd A 3(EeIE WM AT wEAr W 3
JFFIOT PV SeToed ot 6 AT Hewfern RO 6T §Eam F1 37
Ratio of no. of stages actually necessary to produce the given separation to the no. of
theoretical stages required to produce the same separation
D) 3f% 37 e F sEad asY 38 ST & olgAard g9 & @ Hew # 4 a1 g
Wmﬁ@qﬁﬁﬁmwmaﬁmmmw;iw:ma@ﬁa
afaets @1 3Heard
Ratio of change in average vapour composition, if the vapours leaving the plate were
in equilibrium with the liquid leaving plate to the actual change in the average vapour
composition accomplished by the plate
30. Wqﬁmﬁrwwﬁaﬁfﬁa@m%mﬁﬁa@w%ﬁwmﬁgw
fre od &1 qea € 2, 4, 8, 9 T 12. Wit faeelNr & HeaR o A e &
Five analysis are done for designing the no. of stages required in the multistage counter
current leaching operation. Values are 2, 4, 8, 9 and 12. What is the stage mean as per the
statistical analysis?
A) S B) 6 Y7 D) 8
31. e USAST & ARUR a1 FT TGTE oo FT UFH 30T &
The flow of air across heated radiator is an example for -------~-----
A) yonfea dagar/Forced convection B) wrafaes wager/Natural convection
C) fafexur/Radiation D) arerest/Conduction
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34.

36.

37.

38.

Wmﬁ@mﬁﬁmﬁﬁmqﬁﬁmﬁWWW%mﬁ%l

If the thermal boundary layer has the same thickness as that of the hydrodynamic boundary
layer for a flat plate in a fluid, Prandti number is :

&)1 B) 1.5 Cy 08 D) 0.2

................ ﬁm%mﬁﬁmﬁﬁ%@ﬁﬁﬂﬂ*qﬁm%ga?mmmwm
W$#?WWWWW®

Correction of logarithmic mean temperature difference is applied for heat transfer rate
calculation in heat exchangers operating in -

A) wfauanT wars/Counter current flow ‘ B) 3rq9ey yarg/Cross flow

C) gAY warg/Parallel flow D) = & w& #Y a1gi/None of these
U 3T A X o9 & i gfie ¥R A 3eaifud ool T A FEd ¢l
Amount of water evaporated per unit weight of steam fed to an evaporator is known as :
A) eriyar/Capacity B) garar/Efficiency

C) Zumey sgaEuT/Economy ‘ D) o1 a¥/Feed rate

FeaT fafaeras cgal 7 aow doraw q@nRT garel SSHIAROT YR & o, FEd Bl

The resistance to heat transfer contributed by scale formation in heat exchanger tubes is
kniown as :

A) 9REAT Wa/Boundary layer B) aReuur aurh/Fouling factor
C) =dulr aqure/Friction factor D) w&dor ajutieh/Drag coefficient

ISOmmtﬁmaéHmOOSW/m deg.C &1 Fvly grerehar ¥ o T e Al & 2
m’ TAE & IR QN FSAT TAE F IR RIS, S amaEEr 90 deg. C & 27 deg.
C g= uRafda & @ an

Calculate the rate of heat flow across 2 m?surface of an insulation material of thickness
150 mm having thermal conductivity 0.05 W/m. deg.C, if the temperature varies from 90
deg. Cto 27 deg. C

A) 42W B) 45 W C) 53 W D) 4TW

fordlt el et # 0T IMATT STeeReT & A TR o ST TG oo gl

The parameter that does not directly contribute to particle size reduction in a roller
crusher is:

A) Fred a¥ol g/ Tangential frictional force
B) doal & &I &1 37awre/Gap between rollers
C) dor7 sama/Roller diameter

D) s@a =fa/Roller speed

TEAIHT & HEY 36THA # Trecelientor uhA & FERT TOT e £l

Stages involved in the crystallization process in the correct sequence of events are:
A) Hu-aeo-Feh-fheea/Embryo —Cluster — Nucleus - Crystal
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41.

42,

B) srees-sor-dhegsn-freca/Cluster - Embryo — Nucleus - Crystal
C) Fegmh-8yor-Ton-feea/Nucleus - Embryo ~Cluster — Crystal
D) sor-azs-s7a- Beea/Embryo —Nucleus - Cluster — Crystal

200 AT wrE, 9.2 g Ww4.6g/ccma$watﬁmﬁaré%ﬁmﬁ%?&?1
a%awmuﬁwa%mmﬁ%v%mwmlgl :

Calculate the total surface area for a sample of uniform particles of diameter 200 microns
given, mass 9.2 g and density 4.6 g/cc. Assume sphericity of particles as 1.

A) 6000 31 #Hr/sq m B) &8 @ v s #€/None of these
C) 600 a9t #r/sq m D) 300 &3t #r./sq m

=mm%ama$~3ﬂqﬁfM’é:aﬁ#fﬁmﬁf@a#ﬁm-mmaﬁﬁ

The following is not correct about ‘Particle size distribution curve - frequency basis’

A)WWWP@HW%WWW%M

Shape of the curve will be always similar with a central peak.

B) e THA A aw Il Fea gref
Shape of the curve will differ from sample to sample.

C) Waﬁamﬁﬁmwmﬁ#mqﬁmmﬁ%mwmﬁm%
Closeness to true distribution depends on number of test samples tested from the
sample

D)mﬂq\ﬁa%wﬁa;w%aﬁﬁaﬂq\u%@mm%

Gives meaningful information about the behavior of particles in the sample.

wm&mﬁ%%m#ﬁmﬁﬁaﬁﬁﬁm—mwaﬁm
The following does not apply to the operation of a fluid energy mill:
A) %ﬁ%ﬁﬁwmﬁ%mmﬁwmwam%

Size reduction takes place due to particles striking the walls of the mill
B) wfxr fFar S T 3T TB ST §

Power consumption per kg is very high
C) mmﬁ(w—@a)mm#mﬁﬁméqn‘gw

Used for obtaining particles in the sub sieve range
D) \dd faer # dwor &) smar

Grinding takes place in continuous mode

mémwwmﬁwmﬁﬁﬁwﬁmﬁ@a#ﬁﬂ—wwﬁ?

The following does not apply to fall of a ball in a narrow cylinder containing water

A) PR & &1 v 93 9 3 Bt & s g

velocity of fall will be more than that in a large vessel

B) %ﬁﬁ%mé&*wﬁ?ﬁwéﬂm%

velocity of fall decreases near the bottom of the cylinder

€) Wwa‘nm&w@mﬁmm

velocity of fall will be influenced by buoyancy




D) FRe &7 8T aca @ genfad ghom

velocity of fall will be influenced by sravity

43. % 3cpse FaEE g, SEh WHRE oTeHEdT A & qur aalear $E &, &7 39U
Ww#ﬁﬁaﬁﬁﬁﬁﬁﬁ%%ﬁr%ﬁ'%m%ia@ﬁﬁm% :
An excellem solvent which has very high selectivity for aromatics and low v ola‘mty that is
used for extraction of aromatics from catalytic reformate is,

A) wEFal gFaa/Cyclo hexane B) sEAfaw fﬂqﬁﬁrs‘stlmethyl formamide
C) szeufde §er/Diethyl Ether D) @ewreer/Sulfolane

A4, TFT EEOT ¥ A & Aefeiag & § wlgar a6 §

Which one of the following is true in the case of ‘Schmidt’ number

A) >100 gfazmerdy fw Fsor & fow qur <100 g&t & @A
>100 for binary gas mixture and <100 for liquids

B) >10 gfasmardy @ @@ & fow qur <Sgaf & fow

>10 for binary gas mixture and < 5 for liquids

C) < 5 zfasmrdy #w BT & Qv qur >100 g&f & fav

< 5 for binary gas mixture and >100 for liquids
D) <5 gfasmendy 3w @sor o <1 g6l & v

< 5 for binary gas mixture and < 1 for liquids

45. & Rfya gards qur ddee Wi Pl FT He T &l

The operating and equilibrium lines depicted below refers to,

QOperating
line

~ Equilibrium
line

b}

A) gfeeesi/Rectification B) ¥ gayur/Gas absorption
C) famwor/Desorption D) 3ud=d # & v &1 7i€i/None of the above

46.  Todr Rowa F g7 eehet & REReT Uil & 9T 4 9 S gl dadud Reuia &
T 37 A GegHTe AT UTHT T HegdTd fehciamr gl

Ratio of diffusion coefficients of two species in a solution are found to be 4. What would
be the ratio of average mass transfer coefficients of the same as per penetration theory:

A) 1 B) 2 ) 4 D) 16



47.

48.

49.

50.

UF o RIgeor gfae arg #r amafes adar & 20 °C w 90% § 50% aw uRafdd awar
gl Yeh Y & Al m’ e FeEEa (TEdd) f AEr B ge (20°C T F I ATSETE:
10 kPa; #1e7 ehifaw fr oRaeft gr@ 100 kPa #1)

A dehumidification unit converts relative humidity of air from 90% to 50% at 20 °C.

What is the amount of water removal per m® (STP) of dry air (Vapour Pressure of water
at 20°C : 10 kPa; assume ambient pressure as 100 kPa)

A) 17g B) 37 ¢ @i D) 77 ¢

Teh NITSST 09 &l AT BeleT oo, gl

The transfer function of a PID controller is )

) Ko(l+ T a0 B) Ke(ldm 5700
C) Kc(l+ﬁs+£‘3‘) D) Kc (1+ 1iS + w05 )

1 1
& guA F:R gonfamt (Bt Uger (2D &) sger o sigaw s afdw SR gomd @
m%mw%ssﬁﬁaﬁﬁﬂ#ﬂ%ﬁsﬁmmaﬁ?ﬁwﬁ%maﬂ
IAHGH AUTT v grar|

2

1

A second order system can be obtained by connecting two first order systems (T2 and
1

(r25+2} in series. The damping ratio of the resultant second order system for the case
L Wil be '

Tl
A 1 Bji=il )< D) 2

fﬁmﬁ@aﬁ#aﬂa—ﬁﬁﬁer%mwﬁﬁrﬁﬁﬂﬁﬂﬁmﬁmmmﬁmm
g

Bode diagrams are generated from output response of the system subjected to which of
the following input

A) 3&a/Impulse  B) d9=/Step C) ¥9/Ramp D) sargshra/Sinusoidal

& ok ok ok ok vk ook



